2 STAT-211-053
Favsh Majed 063
Question.]. (6-Points) ¥ Sotukions %

Answer True or False

Tfue_ 1.

Tvue 6.

Recently, Al-Riyadh bank manager pulled a sample of customer accounts and recorded
data for the total number of transactions during the previous 30 days. The data collected
would be considered time series data,---L¥% 142

. For the same data, a graph of a relative frequency distribution will look exactly the same

as a graph of the frequency distribution:----S~ewnt

The data collected by mail questionnaire is a secondary data, since it is collected by
sending emails to the selected persons using a computer:--EFalse

A distribution 1s said to be symmetric when the sample mean and the population mean
are equal.---talse.

A tire store manager has collected data showing the number of tires of each brand sold
during the past month. A pie chart might be effective in graphically illustrating which
brands tend to sell best at this store, -~

One of the reasons that the standard deviation is preferred as a measure of variation over
the variance 1s that the standard deviation is measured in the original UNItS, ----YoMEe

Question.2. (6-Points)

Answer the following questions by choosing the right answer.

1.

When a manager of a certain market prepares a series of charts and graphs to all people
who invested in that market during the past five years, he is using which general
category and statistical analysis?

a. (Quantitative statistics
b. Inferential statistics

)@ Descriptive statistics

2.

d. None of the above

A study of middle to upper level mangers is undertaken to investigate the relationship

between salary level and years of work experience. An appropriate graph to display the
relationship between the two variables is;

a. Histogram

Scatter diagram

c. Stem — and —leaf diagram
d. Bar chart
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3. The advantage of using the interquartile range versus the range as a measure of variation
1S

a. It 1is easier to compute.
b. Itutilizes all the data in its computation.
c. It gives a value that is closer to the true variation.

It 15 less affected by extremes in the data.

4, If a distribution for a quantitative variable is thought to be nearly symmetric with very
little variation:

a. The width of the box in a box and whisker plot will be quite wide but the whisker
will be very short.
)-;(I:D The left and right-hand box on a box and whisker plot will be approximately
equal distance from the median.
¢. The whiskers on a box and whisker plot should be about half as long as the box is
wide.

d. None of the above

5. An effective graph for displaying the growth trend in sales for a company 1s:

a. A histogram.
b. An ogive.

)-)@ A line chart.
d.

A stem & leaf diagram.

6. Which of the following is not considered a statistical sampling method?

a. Cluster sampling

b. Systematic sampling
c. OStratified sampling
d) Convenience sampling
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Question3. (6 +6 = 12—-Points)
a. When designing a telephone survey, one of the steps is to formulate the survey
questions, explain how to take care of this step?

Wﬂ hﬂw‘e tb "
v [' k
1- Mo Ke Ciutsl—fuﬂﬁ C leor {1"(1(’ uﬂmmb\juﬁus @P g, eot

5. Use  unievSaly - accepted  debipitions

3. Liros U‘\{ A\ tde o§ qxﬁe&'tiansp

b. One of the data collection methods is “Direct observation and personal Interviews”.
Write down three disadvantages of this method.
@ pts emnch:
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Question 4(4+2 = 6-Points)

The following observations are the sales for a big mall in 100.000 of SR for the previous 20
months:

1.91 1.92 1.93 185 200 200 2.01 205 207 2.09

2.09 2.10 2.12 2.15 2.16 2.24 2.27 2.28 2.30 2.33
a. construct a stem and leaf diagram for the data
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b. Based on the stem-and-leaf diagram , write a comment about the shape of the dada
distribution

Question 5(4+2 = 6-Points)

The following table represents the type of cars (T) and the number of sold cars (N) of each type in
one of the big agencies

T BMW | Mazda TO}’DtE-l GMC | Ford \‘ Honda

N o 3 5 8 2 4
a. Construct a bar chart for the variable T.
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b. Find the appropriate measure of central tendency for the variable N. The mode=
Question 6(24-Points) @ pEs

The following sample data reflect electricity bills (in SR) for ten households in Al-Khubar in
March:

1182 67.88  88.42 11034 1334 789 144.56 127.89 8934 129.1
Given that: " x =1088.03, 3 y *=124494.6077
Find the following

LoMean o L 2x U 103803 _ 108.803 @ pis
o

re sected dume 6783, T79, §8UL, §9.34, 110-34

2. Median 1182, 123. 89, Y291, 133.4, (W45

Y =10 3@ Jeny 110:24 4 )18:2 22354 F
- = MJ = = 2222 _id27 @pts
3. Mode < f

Voo mofe ewist [ pE

o o — ng__(z-")
4. Standard deviation (Hint: =\/Z(x "x) =\k L :\/sz_”(‘x)z)
n—1 n -1 n -1

ke :j ) 2udqh 60 T3 . (1) (to 3;?03)?_\

1o — A @?\:5

—
_ \I 1136 6794 )
& |
~ | 679-2977

= 6.0 632 [ O

5. The interguartile range

IQR = Q3 - Q4

- A 1= 15 (lott) = B-15
= FPas s p=75 1= T

OF
@P\s\

@J - Rgs => ))"‘-.: 25 i i—-:. ?%U (’u-“"l) — 2“:’5

= Q3 =Yg+ 25(Xq-%g) = 12q.1 + .26 (133.4— 129 < 130~ 135

\
@V Q) = Xz = A5 Xz -A) = F89q 4 -75(F842-79%.9) = 86-o4

~ LQR = 120-195 — 2604 —ud.)35 ! O Pt
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6. Develop a box and whisker plot, and comment on the shape.

Min, — 67.8% . Qi= €h.od, GQ2=MJ= 4. 23, Q3= 120135 _ Max = 456

@ FES
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7. Calculate the 90th percentile.

ﬁ“-?u = = qo =) 1 = % ( 1o+1) = 9.9

m CIO'”‘ ’,qu{ﬂ“'f = Ycl + *G[()(fﬂ-—xq) @ Fk.‘:a
- 133.-y 4+ q( 4956 —133su)

— /334 4 1004y

= 1493 . u4yy.
8. Determine the coefficient of variation for the set and interpret what it measures.

C\V = § Jev/. — 260633 . loo 7
S - . ) } D pt
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9. What 1s the standardized value for the median electricity bills?

R X=X - M X _ N4:29 — 108.5063
I 8 Ree 0633 @ FtS
— O+209%
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